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acap = 4.0 • •
acap = 4.5 • • • •
acap = 5.0 • • • •
apex = 3.5 • •
apex = 4.0 • •
apex = 4.5 • •
apex = 5.0 • • • • •

aa = 6.0 • • •
cplx = 2.5 • • • •
cplx = 3.5 • •
cplx = 4.0 • • •
cplx = 4.5 • • • •
cplx = 5.0 • •
docu = 2.5 • • •
docu = 3.0 •
docu = 3.5 • •

ett = 6.0 • • • • •
flex = 2.5 •
flex = 3.0 •
flex = 5.0 •
flex = 6.0 • • •
ltex = 3.5 • • • •
ltex = 4.0 • • • • •
ltex = 5.0 • •

pcap = 3.5 • •
pcap = 4.0 • •
pcap = 4.5 • •
pcap = 5.0 • • • •
pcon = 5.0 • • •
peer = 6.0 • • • • •
plex = 3.5 • •
plex = 4.0 • • • •
plex = 4.5 •
plex = 5.0 • •

pmat = 2.5 • • •
pmat = 3.0 • • •
pmat = 3.5 •
pmat = 4.0 • •
prec = 2.5 •
prec = 3.0 •
prec = 5.0 •
prec = 5.5 •
prec = 6.0 • •
pvol = 2.0 •
pvol = 2.5 • • •
pvol = 3.0 • •
pvol = 4.0 •
resl = 2.5 •
resl = 3.0 •
resl = 3.5 •
resl = 4.0 • •
resl = 6.0 • •
ruse = 2.0 •
ruse = 2.5 • • • •
sced = 2.0 • • • • •
sced = 2.5 • • • • •
sced = 3.0 • • • •
sced = 3.5 • • •
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site = 4.5 • •
site = 5.0 • •
site = 6.0 • • • •
stor = 3.5 •
stor = 4.0 •
time = 3.5 • •
time = 4.0 • • •
tool = 1.0 • •
tool = 1.5 • • • • • •
tool = 2.0 • • • • • •
tool = 3.0 • •
tool = 3.5 •
tool = 4.0 • • •
tool = 4.5 • • •

models percentage of original value

effort 66 57 99 74 85 83 27 48 102 105 57 61 64 58 25 35
defects 72 63 99 84 83 86 30 59 31 18 61 32 72 58 09 08
threat 00 00 00 00 00 81 00 00 00 00 00 00 00 00 00 00
months 87 72 98 71 92 77 66 67 102 97 83 61 88 62 63 61
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